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Adding and Subtracting Like Terms

1 State vhether the follow ng are like term not

‘ibNu

a) 2x + 5x

______________

b) 15x2 + 2

_____________

C) 18xy + 2x’y2

d) 8x3 + 4x2

_____________

e) 6xy2 + 12y2x

f]3xy+4x

_____

2. Combine the ‘like terms into a simpler expression

a)2x÷6x1 b)9x÷lOy_r 2y+llx

d) 4x Ox+5+14x8

f) x+2x33x+M
rs
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3. Simplify the following expressions.

a)4+3+(7+2) b)4+3—(7-2)

c) 2x +4+ (—3x —2) d) 6x2 — 3x2 + (3— 4x2 —2)

e)7x-9-(4x+3) f)-ox+3x2-(-5x2-6x)

g)-18x+2+8x—(12x+2) h)8xy+S-4yx-(-S+4xy)

2

M
rs
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A Simplify the following expressions:

Sa+3a 2 6a -4a 3 4a+a 4 x+x+x+x

Sa—_ F 3a+...a—5a

8. 3x+2x+3y—y 9 3x—x+3—2

1O.3x+y—x+4y ll.3x+2y—3x+4y

l2.2x+Sy—3y+x 13.p+q—p—q

14.p+q+p+q+p l5.4p—Sp

16.Sc+2d—3c—4d 17.5x—3y+2x—4y

l8.Sp—3q+2—4p.i-5+4q 19. 2ac+3ac—4ac

20 xyl-yx 2L2xy-4ac-i-Syx+4ac

22 3xy+4xy—xy 23. Jcd -4cd+cd

24.xy+yx 2xyfl 25.2abt3Cd—4ab—scd

26. 4y2 — 39 27. 4x3 —

“83x21-y3—x2—y3 294y21-Sy 3y2 4y

O.22-I-3x 5x2 x+8 31 x

32x2l-rti-Jx’ 33? fx2 x1

34 xy+ty+x2y 35 xy+xy2 x2 +2y2z

M
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B. Expand the brackets and simplify where possible.

1. 4(x—3) 2. 4(2x-3)

3.2(3—4y) 4.x(x+1)

5.x(x—2) 6.x(x2+4x—3)

7.y(x—y2) 8. 4(p+2)+ 3(2p—3)

9.2(3p+2)+ 3(2p—3) 10. 3(2p—S)+ 2(3p—3)

11. 2p(p+2)+ 3p(2p—3) 12. 3p(p—2)+ 2p(3p—2)

13. 2p(p—3)-F 3p(3p—2) 14. x(x2—2y)+ 3x2(x+2y)

15. —(x—3) 16. —4(2x—3)

17. —2(3--4y) 18. —x(x+1)

19. —xx--2) 20. —xx2-1-4x—3)

21. —ycx—y2) 22. 7p+2)—3(2p—3)

23. 2(3p+2)— 3(2p—3) 24. 3(2p—5)— 2(3p—3)

25. 2pp+2)— 3p(2p—3) 26. 3pp—2)— 2p(3p—2)

27. 2pp—3)— 3p(3p—2) 28. 3x—2y—2x—3y)

29. 2(3x + 1) — S(2x —3) 30. xx2
—

2y) — 3x2cx + 2i

31.2(3x+1)—(2x—3) 32. 2(p—4)+ 3(2p—1)

33. a(a + 2b — 3c) + 3c(a — 2b + 3c) — 2b(a — b — 3c)

34. a(b — c + d) — a(b — c + d)

35. 3a(2b—3c+4d)— 2a(3b—c+6d) 36. S—2x—3)

37.6+4(3—x) 38.6+(2x+6) 39.6—(2x+6)

40.2x2(4xy—S)— 8yx3+ 9x2

M
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C. Solve the following equations:

1. x+3=9 2. 2x=6 3. 4—x=5

4.2x+3=13 5.2x=1 6. 3x=2

7.4x=20 8.4x—1=19 9.4x=-.20

IO.2x=—6 11.4x =—8 12.4x=—1

13.2x+3= —s 14. 2x—3=5 15. 2x—3=x+2

I6. 7x—3=2x.q- 17.7y—85y-i-2

I8.4x+5=2x—11 l9.Sx—6=2x—1s

20.x-t-2x=—15 2l.3x—5=4x—7

22.2x-I-7=5x—3 23.2X+712—3x

24. 6y—2=8y—5 25.8—4x=1O—2x

26.12=3x—6 27.3(x—5)= 12

28. 5(2x—3)= 15 29. S(3—2x)= 30

30. 3(2x—4)=8

32. 22—3x=2(x+6) 33.13—3x=4(x—2)

34. x—18=2(2x—3)

38.x(x-i-5)x2—15 39.3x(2-1-x)=x(3x—2)_24

40. 3(x —4) — 2(x —5) = 6x — 2(x —5)M
rs
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Shape 1.

(5, -6)

(6. -4)

(5, -2)

(4, -1)

(2, -2)

(0. -1)

(0. -4)

STO P

Practice Plotting Points

on a Coordinate Plane

-3 2)

0, 2)

(24)

(3. 6)

(2. 1)

4.0)

D, 0’

(1 1)

40P

Graph these points in order to create the picture of a much-beloved fictional character.

Shape2: Shape3’ Shape4’ Shapes:

(-2, -10) (0. -10) (0, 5) 3. -8) (-3, 2)

(-2, -9) (2, -9) (-1. 6) (-2. -6) (0, 1)

(-3, -8) (4, -10) (-2, 6) (0, -4) (2, -2)

(-5, -8) (4, -11) (-3, 3) (3. -6) (4, -1)

(-6, -9) (3. -13) (0, 5) (5. -6) (4. 6)

(-6, -11) (1. 13) STOP 7 -7( (0, 10)

(-5, -12) (0, -12) :7 -9) (-3, 8)

(-2, -11) (0, -11) 6, -11) (-3, 6)

•-2, 10) STOP (4 11) ( 4, 5)

0 -11) TOP (-4, 4)

M
rs

. N
as

sif

cnassif
Text Box
6

cnassif
Text Box
Plot each ordered pair. Connect the dots as you go. When it says "Stop," start a new line segment.



13

Student Activity 6: Break the Code

Be k ecode

Question: Why did the teacher always wear sun glasses in her classroom?

To find the answer, you must use the Cartesian plane below. Each coordinate on the grid represents

a letter. You must use the activity sheet below which will give you a list of the coordinates. As you
find each coordinate, you must write the corresponding letter above it.

When you have completed this, you will have cracked the code

IT J
D. 6.

N
+ 5 .

H4

L.

4
4 3 2 -1 0 1 2 3 4 5 6 7

.1 -

-5 , -

6

,n S we r

tS3) -3.2) -7 -2 3-6) 2.o) -2-3) ( 3,2j ‘U.4) -3.2) 6-3) -2,-3) O,-6) 2,5) )-6,6) )-3.2 )65) O.-6) -2 -3)

3 0 (3,2) 3 -3,2) I 6,-5) 5 3 (6 -3) (3, 2 2) (0,4 0 6

M
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Reading points on a cartesian plane


Why did the teacher always wear sunglasses in her classroom?

Crack the code below.



Equation of a Line 01

I. Find the slope from each of the given pairs of coordinates.

a) (3, 5) and (4, 1) b) (6, 2) and (3, 2)

Slope: Slope:

c) (0, -3) and (7, -1) d) (5, 5) and (6, 4)

Slope: Slope:

e) (7,6) and (8,9) f) (-2, -4) and (-1, -3)

Slope: Slope:

g) (-3, -5) and (0,0) h) (3, 5) and (3, -1)

Slope: Slope:
M

rs
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2. Find the slope from the graphs bdow

a)

4 —

4 X X

1’

Slope, a = Slope: a =

___________

ci)

L

Slope: a =

______

Slope: a =

___________
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Slope, a Slope: a =

I

‘opc

M
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Calculate the slope given a
table of values.

1.

___ __

4.

___

2.

_

6.

0 1

H--+
Is I

x
-4 -4
0 -2

4 0

8 2

[__—

x y_

-2 -3

---

I
1 3

2 5

x V

J -•10 .1.0
-5... 7
0:
: I

1.0

.- .
4 4

.4 3

2 2

5. 1 .1

i:

EZ
.3. •-6

h....
3 6

8
S I.,0
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”
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I’
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C
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L
)

(1
£
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”

C
”

C
”

C
”

(I
l

C
”

C
”

C
”

m m 0 II + 0 0

2 M M ‘0 C 0 2
x

C
”

C
”

£
U

’
Cr
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Exceptions in the Equation of a Line 01

ci f £ lop a cr p t e h or e ho n t art ia g d o

(0,3)

0

2, &ntiiy thc slope and y-irtercept, thcn write the equat n of toe line in thc Cartes an-grid below

M
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4 dcntily the slope and yintcr ept thcn w the Lq a ion of tl c Fnc in th Ca te i r gi d bel s

(6 4)

S. Identify thc slope and y Intercept then write the equation or the line in the Cartesiangrid below

6 1 tyt oie

-—5

()

a 0M
rs
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Equation of a Line - 05

1 Find the slope, the yintercept, and wr te the equation of the lines below

_ L

____

——

b=

Equation

V

Equation.

L

d)

N
S

M
rs

. N
as

sif

cnassif
Text Box
15

cnassif
Text Box
Equation of a line



LINEAR EQUATIONS

Write the equation (y = ax + b) for each line.

I)

3)

5$ ‘-jO

—7

—4

\34

4)

154 c

/4

V

4

274 ‘-_
7__

4

-4 2

y

M
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Algebra I
2Ql5 Kuta Suttware LLC. All rghtsruserved,

M. 1 .A Writing equations from graphs and tables

Write the slope4ntercepi form of the equation of each line,

*zzcz_:zzz

Name

Date

6)

L
+

2)

2

rri. t:1\z

3)
y

4)

5)
4y
I -/
4/-

—-----—— -—-—

M
rs
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Write the rule for each line.



7) 8)

/

9) 10)

Nc

4

M
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Y intercept is unknown
Find the equation of each line,

Do work in copybook (Scale = 1. unit)

2,

5)

I

3
L 6)

4)

4-——

*

A

+

I
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0
0

/

—
—

—
—

—
—

—

E
E

E
H
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For auestions 13-20, write the equation that is represented by the tab’e.

_____—

4— ——

0 7

13

x v___
-2 1

x y

10 •5
——

.5 4

hr

10 1

__

S

3

0 1

—— i— Equ tion:

____

-8
-2 -4

0

ETZLE
4 8

Equation

Y

-2
4

Equation:

Is.

Equation:

16.

H

ro -i
1

2 3

Equation:

17 1
Equation:

quatlo H

19 20M
rs
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Equation of a Line 06

1. For each of the following questions:

• Writeouty=ax+b
• Label the two given points (Xi, yi) and (X2, y2)

V7—V1
• Calculate ttie slope (aj trom these two points, using a = -

X2—X1

• Plug either set of coordinates (Xi, yi) or (Xz, y2) into the y = ax ÷ b
equation, along with the number you just calculated for a

• Solve forb
• Rewrite the y = ax ÷ b equation with the values you found for a and b

a) (-4, -5) and (12, 27)

b) (-4,9) and (2, -15)
ion:

Eauation

M
rs
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Write the equation.



c) [12, 45) and (-18, -55)

d) (15, -ItS) and (-3, OS)
Equation:

uation

e) (2, 21) arid 1-3, O5)

:Et
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LINEAR EQUATIONS: Complete the table below

Reminder: write the slope without the variable x.

GENERAL FUNCTIONAL I PE
FORM FORM

S
INTERCEPT

4x
—

Sy + 10 = 0

3x±6y—54=0

2x—y=0

2x—v±3=0

30x±60—12O=O

20x ± 50y — 100 = 0

4x—y+5=O

-

4x—2y+5=0

2y—18=0M
rs

. N
as

sif

cnassif
Text Box
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3. Find the slope (a) and y-intercept (b) of each line below.

a)y5x.l b)y=13x4

a=

_____

a=

_____

b= b= b=

_____

d)x=1 e)y=14x±1 f)y=23x—1

a=

___

b= b= b=

g)5y—iOx-2O h) 2yz—2x— 10 1) 2x+3y=9

b= b=

___

M
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LINEAR EQUATIONS

Graph each equation on the Cartesian plane

2

2 2

3 2 — 3 4 5 4 3 2 2 3 5

- -

- -

- 1 -

1) y2x y=—5x 3) y=x

= V 2 = —

4 41

I

St

4) y=x±2 6) y=2xI

T

1—
—,— t __2_4_

--

--1-’—

-t

5-

t
- t

-I 1
4 +

-

-- --- -

-
- -

8) v=—x2 9) y=—x±3
2 2
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Graphing Lines

Sketch the graph of each line.

1) x± 26

t

4

—
-4 — —O 4

4

3 3v=O
4 4

61 6 .

3. .

.

4
.

., 4)

4

+

4

. I
5

12 4 6
_.c__:_) . 54.55M
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I
- -

3 3
4 4

6

9) 2x+y—5 10) x÷v 2

6

4
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Graph each equation below.

®x=4 ®2X—3y=9ZZL1ZEZ

4.__
x

r

4 -.
x

D

®x+2y—4=O ®3x+4y=12

E
4-——

x

y

4. — — — a — — — a.

x

r
4

x

—-——v r

4. — — — — — — — —

x

y

4 - a

x

0

2x—70 ® -2x=2y+5
y

.
x 4 —.

® 6x—5y+20=O

0

u•n
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LINEAR EQUATIONS:

Use your copybooks

Calculate the x and y intercepts by plugging in 0.

1.) 3y+2x9
2.) 4x—8=2y
3.) —3x—102y
4.) 5x+6y30
5.) 2x—y1
6.) x+2y—8
7.) 8x+3y—9
8.) 4x+5ylO
9.) x—y—2
10.) 4x—3y9
11.) 3x+2y=6
12.) 4x-5y=0
13.) y=—i+2y
14.) x+5y—lS
15.) —2y—i0+2x0
16.) x+S+y0
17.) 3x+20—4y
18.) 1S—x=--5y
19.) —1 = —2x + 2y
20.) —x-1y+3
21.) 0=Sy—x
22.) —30+lOy=—2x
23.) —30+10y=-5y

M
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X AND V INTERCEPTS

Find both X and V intercepts of the equation. Show alLwork’!

1. 4x+y=5 2. x—y=1 3, x+4y8

4, 5x +y=2 5. 7x+3y-21 6. 3x+6y=18

7. 4x +y-8 8.x—2y —1O 9. 6x+4y12

10. x9y=....45 11. 2x—6y18 12 7x+5y42M
rs
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as

sif
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Write the coordinates of the x and y intercepts: (0, y) (x,0)



ntcprkshee

Identify the x and y intercepts and write as an ordered pair

1. 2.

3 4

5 6.

M
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Answer:
(0, -2) &
 (2,0)



X AND Y’ INTERCEPTS

Graph the following equations by plotting the x and
yintercepts and then drawing the line through the
2 points

1. x +y 8

±
2. 2x+3y =12 3. 6x+4y12

±:zH,

3L’

5. 5x—2y —1O

.ZJZH

4. 4x +y—8

----k----

EEHEH
5————F— —— — —

- - -

-r

---H--
- - -- Jj_j

7. 3x 9y—18

y

,— -.----

------

:t
-

H- HHrTI1

±+;:±
Et ±-F- - H
T’:::

:

6. x4y16

— r

EE ti-zH4z
zH:zz
- .--

-j-

_rt_ -____

EE

EEZEtEHLZ
---H
---H±---H-
-.-.---.i-

LLH
- —

- LLLJLL

8. 7x—2y =—14 9. 1Ox+15y6O

-_

--H
------

- - - -

- -- -

-.-.---

H—J--

H-zt tzHzt
iJLJ4

:z :z±z
---H* --±

H-- -

4L
M
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3. For each of the following, sketch the line based on the description provided.

a) a positive slope and a b a negative slope and a
positive yintercept (cx: y = ax + b) positive yintercept (cx: y = —ax + b)

y y

_______

x

_______

x

c) a positive slope and a d) a negative slope and a
negative yintercept lex: y = ax — b) negative yintercept (ex: y = —ax — b)

y y

x x

20
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4. For each of the following equations:
• identify the slope (a) and yintercept (bJ.
• sketch the yintercept on the graph.
• show the direction of the slope.

a)y=-7x+3 b)y=6x-4 c)y=4Ox3OO

a=

______

b= b=

y y y

x x

d) 4y=12x2O e) 3y=15x36 1) 45y=i8x-27

M
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gJSy-30=45x I) -3y+24=72x

_____

a=

_____

a=

_____

b=

_____

b=

_____

b=

_____

y V V

M
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e) y 45x8O

a=

_____

a=

_____

a=

_____

b=

_____

b=

_____

b=

_____

y y ‘1

_________________ _____________________ _________________ ______________

x

J y +6O 48x iJ 6y+24= 72x

b

M
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b=

_____

b=

_____

b=

_____

hJ 9x - 4Sy=-36

b=

____ ___

b=
y y yM

rs
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X and Y Intercepts - 01

1. What is the equation of a line ith a slope of and a y intercept of 2?

(Sketch the graph

0

Equation:

2. What is the equatIon of a line with a slope of-S and an x-intercept of 17?

(Sketch the graph)

Equation

38
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3. What Is the equation of a line with an x-lntercept of 6 and a y-Intercept of e3?

(Sketch the graph)

4. What Is the equation of a line with an ic-Intercept of 8 and a y-lntercept of 16?
(Sketch the graph)

yd

x

7’

S.

x

39
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5. What is the y4ntercept of a line passing through (42, 8) and (36, 4)?

a

(-12, -8)

(36, 4)

F

x

Y-inter-cept(O,

6. What is the x4ntercept of a line passing through (42, 8) and (36, 4)?

(-12. -8)

(36, 4)
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7. What is the yintercept of a line passing through (24, 16) and (18, 2)?

Enterceptco,j

8. What is the x-intercept of a line passing through (24, 16) and (18, 2)?

(24, 16

2)
x

Xintercept: (

____

, 0 )

(24, 16)
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X and Y - Intercepts 02

1. What s the £quation of a line with a slope of and a y-intercept of 4

(Sketch the graph)

0

2. What is the equation of a line with a slope of 3 and an x-intercept of 6?
(Sketch the gr3ph)

Equatior
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3. What is the equation of a line with a slope of and an xintercept of 42?

(Sketch the graph)

x

Equation:
L

4 What is the equation of a line with an xintercept of 16 and a y4ntercept of 2?

quation
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5. What is the equation of a line with an x-intercept of 9 and a y-intercept of 6?

(Sketch the graph)

x

i

6 What is the x-intercept of a line passing through (25, 33) and (15, -9)?

15 9)

Z5 33)

t: ( 0)’
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X - and Y Intercepts 03

1. What are the coordInates of point C?

2 What are the coordinates of point B?

14=O

x

—3

B1J

C

5y - 125x - 15 0
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+ 15x 48 = 0

4 What are the coordinates of point D?

A

gy + 3x - 135 = 0
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5 Find the value of the missing coordinate.

Answer( 30 , )

6. Find the value of the missing coordinate.

•( 16 ?)

12

0

Answer( 16 ,)
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7. Find are the values of the missing

Answer ( )

8. Find are the values of the missing coordinates,

(2O, -8.5)

(3 75)

x

/

Answer ( j
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X and Y Intercepts Practice Test 01

1 What s t e equation of a line vith a slope of — and a yintercept of 5

Sketch the graph (1 pti

2. What is the equation of a line with a slope of and an xintercept of 13?

Sketch the graph (1 pt)

Equation:
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3. What is the equation of a line with an x-intercept of 16 and a y-intercept of -2?

Sketch the graph (1 pt)

-ö —1
x

quation

4. What are the coordinates of point B?

y±6x1OO8=O

50

M
rs

. N
as

sif

cnassif
Text Box
51



5. What is the yintercept of a line passing through (S12, 89) and (1024 403)?

(512 , 89)

(1024, -103)

6. What is the x-intercept ofa line passing through (1664, -24) and (-832, -180)?

X-intereept (__,___J
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2. What is the equation of a line that has a yintercept of (0, 6) and also passes

through the point (14, 43)?

quation

3. What is the equation of a line that has a y-intercept of (0, —12) and also passes

through the point (14, 44)?

Equation:
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4. What is the equation of a line that has a yintercept of (0, 8) and also passes
through the point (-6, 14)?

Equation:

5. What is the equation of a line that has a yintercept of (0, —4) and also passes
through the point (-8, 0)?

Equation:
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